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45 mmd@mmmm‘ﬂiW’Roadsis- g

(A) 5to10cm (B) 2to3 cm

(C) 1to2cm (D) 05to 1.0 cm
ﬁgﬁmﬁmf&mmaﬁm,.m...@ﬁ%t
(A) 5 9§ 10 @ B). 2 © 3 ¥

© 1 ¥2W (D) 05 ¥ 10 &

46 One degree of curve is equivalent to
UF IW B IS5 W B B

1600 1700

N & ® &
1750 1800

O TR ® &

Where R is radius of curve in meter.
wafs R AR # 3@ H Boar 8

47 Bottom most layer of Pavement is known as-

of

(A) Wearing course (B) Base course

(C) Sub- base course (D) Sub grade

fzomrt &1 wed amraeh (o) ®w o ®

(A) ®aftm o (B) IER &

(C) Su-—IER I M), IS
48 The specific gravity of Sewage is-

(A) Much greater than | (B) Slightly less than |

(C) Equatto 1 (D) Shightly greater than 1

dw = fAfee e w8

(A) 1 8 sga I B) 19 D@ I

(C) 13 aTow @) 1 @ 9w e
49 Standard B.O.D. is measured at

(A) 20°C - | day (B) 25°C - 3 day

(C) 20°C - 5 day (D) 30°C - S day

e @ 3t & & um Bk B

(A) 20°C -1 &3 B) 25°C -3 A=

). 20°C -5 R= (D) °C —s fa7

S0 In sewer line, at 12 o'clock of day, flow is approxamately

average glow.

(A) Half (B) Equal

(C) Two - times (D) Three - times

AR a7 I RA 3 12 & @ aFm was Nwe w@wE 3

g &)

(A) 3m=n (B) wWH

QT ®@) @ T

EJE201S /1l B} °

IPTO.
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S1  Moment of Inertia of circular area having diameter ‘D’ about the axis is
passing through the center of gravity.
fAft D @ @ gamER AAGE B YEE B A He arell smr gy

Srean ot 8N

n-D* n-D*
. (B
(A) =5 (B) 28
n-D4 1c-l)4

\(Gk 64 ®) 12

52  The group of forces, whose resultant is Zero, is called

(A) Equilibrium force (B) Coplanar force

(C) Collinear force (D) Concurrent, force

7 sar & ¢ 1 IR @ Y B a8 .. HEATT B |
AL URIERT g (B) wwIefly et

(C) ¥NR@ «d (D) WA &

53 Two equal and opposite glirection forces ‘f” acting, and then value resulting
force will be-

< §HF 7 9! faer A ol v gt 9t () @ oRum® 9@ @1 "
BT

(A) 1414 f By 2f
&~ Zero / X (D) 0.707 f
54 The moisture content in a well seasoned timber is- ©=/47
(A) Zero ‘ “(B) S5to 10% e >
(C) 10to 12% (D) 15 to 25% _
I YBR THIE T dDS H Sl P AT B B Z_:ff.ff

(A T (B) 5 ¥ 10% —.
®L 10 ¥ 12% (D) 15 ¥ 25% 2R

55  As per IS 269- 1975 imtiat setting time of ordinary cement fs- F‘F‘T‘
(A) 15 minute (B) 30 minute . @
(C) 60 minute (D) 75 minute
IS 269—1975 @ AR WEMRY e & URMIS SHgH /T 8-
(A) 15 fFe B, 30 fe
(C) 60 f=ic (D) 75 M=e

56 When the plastic limit of a soil is greater than the liquid limit, then the
plasticity index is reported as:
(A) Negative (B) Zero
(C) Non - Plastic (NP) D) 1
S9 FeT B gEed WE S9! gaamr ¥ e 8, a1 gucu yadis
gram & |
(A) FOIHE B, I
(C) 3rgecy | D) T®
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§7 The minimum depth of foundation in clayey soils is

59

60

61

gfveer genl § ffa & gram e o R

A, 05 m B) 07m

(C) 09m M) 120 m

Putty is made up of

(A) White lead and turpentine

(B) Powdered chalk and raw linseed oil
(C) Red lead and linseed oil

(D) Zinc oxide and boiled limseed oil
& Affs & o &

(A) WBT W vd ard @1 ae @

—@) T afRw @ wem wa® F aw A

(C) @@ @ ¢d ol &1 Ja 9}
D) Ri® Jfewms vd geer I & a9 A

The sloped roof which is sloped in four sides is called as:

(A) Shed roof (B) Gable roof
(C) Hip roof (D) Mansard roof
I8 TMG BT SN ORY AN Qe B B wET omm #)

(A) 9T (shed) ®a

TY€)— Y<OIR I I BA (Hip roof)

(D) Tet& B (Mansard roof)

The slump test for finding out the workability in concrete the maximum size
of aggregate should not exceed.

(A) More than 20 mm (B) More than 38 mm

(C) More than 40 mm (D) More than 53 mm

B ¥ geIar @ faw @ wWEw A e o aleer aw @
8FT AfRu—

(A) 20 mm ¥ IS B)_ 38 mm ¥ IS

(C) 40 mm ¥ 3D (D) 53 mm ¥ WS

The most familiar form of Bernouth’s equation is-
el wiievor &1 wew IfvE yafaa v R

P v: p y2
(A) _L+zi+_L.=-2-+Z + =2~

w 20 W 2 2g
dp
(B) -s—-bg'dz-i-v-dvvo

P y?
©) [W*Z“{;]mymn*mmmd/hﬁmm-mm

‘\(D.)\Noncofthuclﬂﬂ O o
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62 A rectangular beam of length ‘L’ supported at its two ends carries a central
point load ‘W’. The maximum deflection occurred
(A) at the ends
(B) at L/3 from both ends
(C) at the center
(D) None of above
(P SRAPR & 71 L' A RY ) amafta 8, dfgn fisg W
W g B 8| e Ry g
(A) RN w
B) 2 RRI A L/3 & 38 w

Q)L B §
(D) SR # ¥ HF T8

63 If, the diameter of rivet is 25 mm or less, diameter of rivet hole will be
than the diameter rivet.
(A) more than 1.5 mm (B) less than 1.5 mm
(C) more than 2.0 mm (D) Equal
ﬁﬂemmzsﬁtﬂ.mmmaﬁwﬁaamaﬂawﬁaa

D T W BHTT |

AL 15 A 9 afYe B) 15 i ¥ ow
(C) 20 Y ¥ IR (DY
64  In general the depth of Plate girder is kept as of span.
(A) 1/5t0 1/8 (B) 1/8to 1/10
(C) 1/10to 1/12 (D) 1/12to0 1/16

Wwwﬁmmmwm%wdﬂmm
(A) 1/5 ¥ 1/8 < ~(B) 1/8 W 1/10
Q_1/10 ¥ 1/12 D) 1/12 ¥ 1/16

65  Tensile strength of mild steel is- -
(A) 1400 to 1800 kg/cm?
(B) 1800 to 2500 kg/cm?
(C) 4200 to 5400 kg/cm?
(D) 5500 to 5700 kg/cm?
9§ 39 @ a99 |wed gkl 8-
(A) 1400 & 1800 fdHuT /P
B)-. 1800 ¥ 2500 fpur /qH2
(C) 4200 ¥ s400 fdur /¥R %
(D) 5500 § 6700 fdhur /AW

P AP A 7 28 ™ %
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66 Weight of one bag of cement is:
gh &1 e &1 awE B R

(A) 70kg ~(B)~ 50kg
(C) 60kg (D) 65kg
67 Los Angles machine is used to test aggregate
(A) Crushing strength (B) Impact value
(C) Abrasion resistance (D) Water absorption
dra Uforel| afe &1 yan fae @ g & ford
fear smar &

(A) weoq wmed @ (B) Weee #FE & forll
TO) AT yRR B ol (D) Wi s @ far

68 The insoluble residue in cement should be
(A) Between 20% to 25%
(B) Less than 20%
(C) Between 10% to 20%
(D) Less than 1.5%

@i A sgafia sadm 8 Aty
(A) 20% § 265% & 9=

B) 20% ¥ FH

(C) 10% 9 20% & s

TP 15% ¥ BA

69 For checking the length of bricks as per Indian standards how many bricks
are to be taken:
- URAE AP & IFER $cl @ W Sied @ oy fhae get @ o
ST A |
(A) 10 B) 15
~—C)_20 (D) 25
70 In analysis of rates, contractor profit is taken at the rate of
X favemor RO WG SBIR BT AWM HET W1 GHdl
(&) 1% ®B) 5%
——~6)_10% (D) 20%
71  Thickness of plastering is usually:

WHITT @R} &) HIeTe Bkl &

(A) 6 mm T~@) 12 mm
(C) 25 mm (D) 40 mm
72 No deduction is made while plaster measurement in case of small openings
upto |
G B AUE D T W B BRY/ Ut/ el e W
b1 HeRD TE B o 8y
(A) 0.1 sqm (B) 0.3 sq.m
’\(.Q)\ 0.5 sq.m (D) 0.7 sq.m

EJE-2015 / 11_B ] X 13 [P.TO.
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73  Principle of surveying followed to prevent accumulation of errors is:
(A) To work from whole to part
(B) To work from part to whole
(C) Both (A) & (B)
(D) none of above

wadft Ffedt &1 Aen g wdewr @1 fre g @
TA). oot AT @ i WET @ 3R | Hee
(B) 3nifrd wrm | Wyol AT @ AR wdevr @R
(C) THI (A) @I (B)
(D) SoRE ¥ P TE

74  As per Indian standard, the length of one link in 30m chain is
ARG AFSFER, 30 WeX olid & Uh dol @ oddrs sl
(A) 30 cm TTB)-, 20 em
(C) 40 cm (D) 10 cm

\\75_\ If reduced bearing of a line is N 87°W, its whole circle bearing will be:
afe fe Y@ &1 9T e N 87°W 8, ar 38aT guf g faaAe

_E?IT” | & T
(A) 87° (B) 93¢ & %ﬂ
€y 3° B 267° E

76 In a plane table survey, the plotting of inaccessible points can be conveniently
done by
(A) Method of resection (B) Method of radiation
(C) Method of traversing (D) Method of intersection

for7 figalt & g8t @ qa (v uee) Wud § A9 WHa A g,
v fagall A Refy sreraa e e 2ae wdeor & fafer & apaen
¥ fegr o1 wHar &

(A) Refy fafRor fafe (B) fafdzor fafey
(C) graf¥ fafer ®). vl fafr
77  Line joining points of equal elevations on earth surface is called
~ (A) Contour surface (B) Contour gradient
(C) Contour line (D) All of above
yfiqe @ w9 Segar ara fagal @ e arell Y sgemh ®:
(A) IR FE B) TR ITT
QTR (@) SRE W
78  If angle of internal friction of soil is 30°, coefficient of active earth pressure
will be:
ofy war @1 aaRe wor oy 30° & dF wihy (Ufees) qsm e
BITE
(A) 172 . ~@)_ 1/3
(C) 1/4 D) 233 250 Fé)).
EJE-2015 /Il B ] | 14 s&u ..~ IPTO.,
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79  The angle of internal friction ¢ for cohesive soils is equal to
WD FaT H AARE eor @y ¢ B
T 00 (B) 30°
(C) 45° D) 15
80 Plasticity index of soil is equal to
(A) Liquid limit- Plastic limit (B) Liquid limit- Elastic limit
(C) Elastic limit- Plastic limit (D) Elastic limit- Consistency limit
T T GUST YEdis aar &
™ TT WH-gueg Wy (B) wa dW- weawer @
(C) T - guea & (D) AR HHT— Fedr @

81 Coefficient of uniformity is

(A) —gﬂ (B) 1_132&
’ 30 10
DSO .

<) 34; \(D)\None of above / SwWad # ®F &

82 The maximum size of clay particle is

ﬁ‘cﬁ#rﬁaaa%warm@ﬁnm%

(A) 0.1 mm (B) 0.03 mm
Ttex_ 0.002 mm (D) (}.000_2 mm
83  If salt is added in water, the surface tension of water will:
(A) Increase (B) Decrease
(C) Will not change (D) None of the above
Ul & HEG Ui TR OUF #7 U g
(A~ 93T (B) ww
(C©) amuRafda & D) S § ¥ #F T8

84  When metacenter and center of gravity of any floating body coincide, the
floating body will be:
(A) In Stable equilibrium (B) In Unstable equilibrium
(C) In Neutral Equilibrium (D) in Real equilibrium :
mwwﬁ@mmwmwmwam%aaw
fie arm

(A) Rer wHaem ¥ (B) 3ReR e o
\S\w@a e # (D) TG G ¥
85  Flow in a pipe is laminar if the Reynolds’s number is
(A). Less than 2000 (B) Between 2000 and 4000

(C) Between 4000 and 6000 (D) Equal to 10000
UEY W W AR @ R ¥res wEmr e ame
\(m\zooo?tam (B) 2000 ¥ 4000 & &g

(€C) 4000 & 6000 & 97 (D) 10000
EJE-2015 /1l B ] 1E retTon
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When various fluid particles move in Zig-Zag paths, flow is called:

(A) Laminar flow (B) Turbulent flow

(C) Uniform flow (D) None of above

a8 yarg, fored Wi @9 oo eg—e wnf @ vafa B ¥ waanr &
(A) "I yas By, Reger waie

(C) 3muRad waw (D) Suwad § ®1g TE

The color of upper part of kilometer stone on road side in case of state
highway is

(A) Green (B) Yellow (C) Brown (D) Red

T FEEE P B T g fhemicr qul aet weRt @ HH 9E
H [T BT B

W (B) drar (C) (D) <l

88

89

90

91

92

93

The width of broad gauge is

e A B A Bl &

(A) 1576 m "B) 1676 m (C) 1.776 m D) 167 m
The value of ruling gradient in plains as per Indian Road Congress is
(A) 1in10 (B) 1in15 (C) 1in20 D) 1in 30
ARG WSh SUYM @& IFUR EHad W oot Ufete B ®
(A) 10 %1 (B) 15851 (C) 20 & 1 7&)\301?1
The maximum allowable super elevation is:

(A) 1112 W l1inl8 (C) 1in15 (D) 11in 30
AHTH SR YR Yoaed & 94 B '
(A) 12 %1 Bl B8HF1 (C) 15§ 1 D) 30 H 1

Manhole is generally provided at each:

(A) Bend (B) Junction

(C) Change of gradient (Dy All of above
¥9EIe AEFITIT 99T STl B

(A) ® A W (B) ® M W

(C) wauar # & uRadd W (B Sudd ¥ W

The solid content of sewage is usually:
T ¥ (Fd) § o/ Bl @ EEn Bk 8
(A) 99% (B) 80% €) 15% ™Y, 1%

The dissolved oxygen concentration with the increase in
temperature of water.

(A) Decreases

(B) Increases

(C) Remains same

(D) Sometime increases and sometime decreases

W BT AU 9gq 9 9ad dive gferd sifediio @ |
~4) uh g - AB). ol ®
(C) T8 w2 (D) 0 g 2 R N wedh B

rSTMN

i iy o ey 2 aa mas ol . S
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94  As per Indian standard (IS 10500: 2012) of drinking water specification,

concentration of iron in drinking water should not exceed:

AR AFE (IS 10500:2012) 99 &1 yr-faRkfe @ ITER, 99 & gy

¥ A B gigdr .. ¥ ftEm w8 &R aifke
(A) 0.5 mg/L (B) 0.4 mg/L
~C)_ 0.3 mg/L (D) 0.2mg/L

@ As per National Ambient Air Quality standards, maximum permissible

9%

97

98

99

concentration of NO, (24 hr. average) in ambient air in residential area is
WMWWWZﬁWWMﬁmZﬁM
o ® MG Ifrwan wEnr 8 wad & :

Ay 100 ué/m3 ' «B); 80 ug/m’
(C) 60pg/m? (D) 40pg/m’
Ttl‘le‘:readlh of rib in a T-beam should at least be equal to the depth
of rib.
(A) one-half (B) one-third
(©) one-fourt_h (D). one-sixth
WG-3-exA A, R A diel, &0 @ o0 Re & mewd @ 2 afge
%w— 3T (B) TF- o
O T dARmg (D) TH- war
The tensile strength of concrete, expressed as the ratio of compressive

strength is
T4 dfoee, dwie & wdlisT ftmd & s ¥ e R wmar ¥

1 1 1 1
@A) 75 ® % O3 10
In a pre-stressed concrete structure
(A) dead load of structure is reduced
B) cracking of concrete is avoided
(C) the cost of supporting structure and foundation is reduced
(D) all of the above
TR Bdbic @ GXgar #
(A) EREET FT 3G AR HH 81 Al g
(B) ®Pc H TR I W $& Wl B

~PE)s. YERT o dlell WA Td 419 & Hod FH 81 oial 2|

D), SWiF Wi
If O is the stress in bar and T,, is the design bond stress then the
development length of a bar of diameter ¢ is given by:
afe o, B B # ufdad & AR T, IWPHed S ufygw & o oW
AN ¢ D Be @l [N d=E 3 UHR T 8rft

40 o, o o, 200 Do

W1, \Q), v, © 3, s NEW

- s W ™

D SENS i A EBE 8 GG e T —
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100 In the design of a two-way slab restrained at all edges torsional reinforcement
required is
(A) 0.375 times the area of steel provided in shorter span
(B) 0.375 times the area of steel provided at mid-span in the same direction
(C) 0.75 times the area of steel provided at mid-span in the same direction
(D) None of the above

T R | B W A (@ s § del) ww A oA #,
TS PG Y&l B |

(A) BR U # yer W & &F%d BT 0375 AT
%‘h?ﬂﬁﬁ?ﬂﬁ dg-Ulc W yaH ld @ &FA%a &I 0375 AT
~(C), =1 fawm #, ﬁﬂ—mewumwaaﬁmzmwsgm
(D) SW& A Pg 8

101 In double reinforced sections, total reinforcement percentage should not
exceed:

AR vl SR § TR B G weeE wfwddr Prefakad &
IS w8 B @ifdw
@), 4 B) 6 © 8 (D) 10

102 A reinforced concrete beam, supported on columns at ends, has a clear span

5 m and 0.5 m effective depth. It carries a total uniformly distributed load
100 KN/m. The design shear force for the beam is

Th YEaord Jaferd PHic BRI Wee AWK 5m & TA1 JAEl T8
06m & eR4 W Hol FARIRT WR 100 KN/m 8| eRA &1 3fAdHea
HA qd

A). 250 KN (B) 200 KN (C) 175KN (D) 150 KN

103 The term ‘Characteristic load’ means that load which has a probability of not
being exceeded, during the life of structure is equal to:

TS IR W T 99 AR &1 8 OEe SR A1 WREEl @ ofda
ﬁwmﬁaaﬁaﬁ@m@?ﬁﬁ-@)a‘r:
(A) 9% B, 95% ©) 99% ”?59%100%

104 The tensile strength of concrete in flexure as per IS:456 is:

1S456 @ IFER A (df7T) H @l &1 a7 qmd B B

(A) 0.6JE\@ 0.7,/}; ‘T%O.?SJE D) 0_9J.f?k

105 For a slab spanning in two directions the ratio of span to the depth of slab
should not exceed

31 feumll # hol ¥4 @ forg, wie &1 Bag (AH) vd TEUE BT U
frg @ warer 98 8T ARy
(A) 10 ' (B) 20 ©) 35 iy, 50

Cmbidhlnas adme o o L P T . of &)
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100 In the design of a two-way slab restrained at all edges torsional reinforcement
required is
(A) 0.375 times the area of steel provided in shorter span
(B) 0.375 times the area of steel provided at mid-span in the same direction
(C) 0.75 times the area of steel provided at mid-span in the same direction
(D) None of the above

i A | B Y g-a (@ el § dol) wWa @ feemea #
yaegs goita yaaq 8|

(A) B U # yer ¥d & &awe &1 0375 AT
%ﬁwﬁmﬁi da-Uic W yeH Wld @ &Fmd &1 0375 AT
~(C), S fRwm ¥ ﬁa—mwm'\c‘aﬂ%mmwsw
(D) SWE | P1g A8

101 In double reinforced sections, total reinforcement percentage should not
exceed:
QB vafora dawHl H WA B FHo yead yfeeaar Frafafad 4@
ew T8 B afRe
), 4 ®B) 6 ©% 8 D) 10

102 A reinforced concrete beam, supported on columns at ends, has a clear span

5 m and 0.5 m effective depth. It carries a total uniformly distributed load
100 KN/m. The design shear force for the beam is

TP Ygaard Fafe P BRA BT W [IWR 5m 8 927 g9l TENE
05m 2| eRA W FHd FAGARd AR 100 KN/m 8| &RA FT 3ifHbeu
o qd &

“fA). 250 KN (B) 200 KN (C) 175KN (D) 150 KN

103 The term ‘Characteristic load’ means that load which has a probability of not
being exceeded, during the life of structure is equal to:
TS TR F A I AR B & S TR AT I P SfaA

.ﬁwwﬁﬂmaﬁmw(mm)g‘r:
(A) %%  B), 95% ©) 9% ?5&7100%
104 The tensile strength of concrete in flexure as per 1S:456 is:

1S456 @ AR I (M) H @dwle &1 oA wERd B B

(A) 0.6ch_k\@ 0.7./7,; “csnt\zms,/}; D) 0.9,113

105 For a slab spanning in two directions the ratio of span to the depth of slab
should not exceed

31 feumit # tel w9 @ forg, we & g (WH) U9 TEvE BT I
i ¥ Surer 981 BFr aifey
(A) 10 ' (B) 20 ©) 35 iy, 50
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106 A masonry dam may fail due to-

{A) tension in the masonry of the dam and its base
(B) overturning of the dam

(C) crushing of masonry at the base of the dam
(D) any one of the above

e R @9 Rvd 2 9o &

(A) 7 B RE T amR ¥ 9w A aow @
B), ™ & UdcH W
(C)‘ma}mm%méa%m@ﬁ@

D) IR A A I A 0w

¢/la'[ension bars in a cantilever beam must be enclosed in the support’t-np to:

~(A), Ly+10d (B) Ly3 (C) 120 (D) d

Where, d : Effective depth of beam
Ly : Development length
UG SRR R B G 99 B} 3T 95 A § Ry g1 aifea;

AL LgHod  B) Ly3 (€ 126 @) d

108

109

110

111

112

Wt d ;W e @R @), L, Rew

For field rivets the maximum permissible stresses in rivets and bolts as
given in codes are reduced by:
mm$%ﬁﬁﬁamﬁmsﬂ?ﬁﬁmaﬁm
® IR fHaar &a fea o waar ®

(A) 5% By 10% (C) 15% (D) 20%
Rivets are generally specified by
(A) Shape (B) Diameter of head
(C) Overall length (D) Shank diameter
Ract &1 um fraa o &
IFR 4 B) Y & a9 @
(C) wgot s @ «D), ¥F & amw ¥

The specific gravity of bitumen is

figma @1 smfde o B

(A) 178 B} 109 (C) 130 w0385
Separation of water, sand, cement from a freshly mixed concrete is called:
(A) bleeding (B) creeping (C) segregation (D) flooding

e Bal R FHe ¥ T, ¢, W FT B B FEd &

A g B) fadwr (€) gY@ (D) 3TATgH

Plaster of Paris is obtained by calcining:
(A) Bauxite (B) Gypsum (C) Kanker (D) Limestone
ey A% URY fFue s @ ww Bar &

(A) T« \@/ o (C) ows 3& TR
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113 The plinth area rate for construction of first and third floor of the building
as per UPPWD has following relationship:

(A) Rate for first floor is higher than rate for third floor
(B) Rate for first floor is lesser than rate for third floor
(C) Both rates are same

(D) None of above

UPPWD$WNMWa%mmMWa$W?§
B aFmd ax B ey R

TR W A B R A afra # e @ e 2

(B) Wﬂﬁfﬂaﬁmmmﬁmﬁmé

(D) SWF ¥ 1 T8

114 The order of booking dimensions in standard measurement book is
(A) Length, breadth, height (B) Breadth, length, height
(C) Height, breadth, length (D) Height, length, breadth
D A9 gRa@l d A (e, deE, S gif) e @ @ fre
giar &
A W hed, FHE @) e, wd, g
S\QQL/W‘% dIsrE, A D) SuE, daE, der

115 For calculating the total quantity of paint on both sides of flush doors, outer
dimensions of door is multiplied by:

(A) 125 (B) 2.25 ©) 1 ), 2
116 The size of modular brick is
ATgeR ¥Ci &1 IMHR BT & -
(A) 10 x 10 x 9 cm \@% 19 X 9 x 9 cm
(D

szz.s x 10 x 8.5 cm 22.5 x 8 x 9 cm

117 Unit of measurement of D.PC. is

(A) cum (B) Sq.m (C) Meter (D) Kg
DPC. @ A9 & sHE Bl 8 |
(A) =9 Aiex m\aﬁwﬁ’m(mm—a (D) frm

118 Theodolite measures:
(A) Horizontal angle only
(B) Vertical angle only
(C) Horizontal and vertical angles
(D) Horizontal distance
Rreienge & w1 o wear @
(A) @aa afgsr @ “"@7 BT FeakR oy

~O) aftw v seakr e (D) e gRa
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119 The series of closed contours having higher contour values inwards represent
(A) Flat plane (B) Valley (C) Hill (D) Lake
U &g R areh whred @Rl @ stwen #§ afy IvF sy A IR wg
W B ) a8 WE 8T
(A) wme waw (B) WY (C) U (D) #h
120 Alidade is used in
(A) Chain surveying (B) Leveling
(C) Plane table surveying (D) Compass surveying
e &1 Quanr frar W &
(A) 9 Hderor 3
(B) dowemoT ¥
NC) @ 2 d (Rrvr ued) wdwor A
(D) THE [ H
121 The longest chain line passing through the centre of the survey area is

known as
(A) Base line (B) Tie line
(C) Check line (D) None of above
R & D WA W [ORA qTel G G4 TG WG B ST ST ]
~(A), IER W@ (B) &AW ¥@r
(C) i ¥@r (D) SWFd # P B
122 The survey, in which the curvature of earth is considered, is called
(A) Geodetic surveying (B) Plane surveying

(C) Geographical surveying (D) Land surveying

g8 waervl, e gefl & el MeR P AMG 8, dEdal &
~4), S HdevT (B) HHGA |IEAT

(C) pferes Hadeqor (D) *g-wdeor

123 For a given degree of compaction, graph between dry unit weight of soil and
water content in soil is called
(A) Compression graph (B) Morsture- density graph
(C) Void ratio graph (D) Porosity graph
fHA HeTd & AT W YT & YD IDIE AR 9 S Olelie B HE
& dg dar T 9% dEdar @
(A) wdred ab B), T—uT@ IH
(C) Rawar sFud % (D) WRYAT dH

124 The effective size of a soil is
el & YA BT T B ®?

Dyo B) Dy €) Dy D) Dg,
125 Which of the following soils has the finest grains?
(A) Coarse sand (B) Silt '
(C) Fine sand (D) Clay
frfafaa % wa@ 78 @ fee 8 &
(A) #eY e ®) Rie

(C) #EF ] D) R war



